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By [ ABRES[EER 71 33 1 41 )
By | kBES| =Bk 4 7 13 1
CEa 100m 14 118 3 135 17
CEa 300m 9 22 31 4
CEa 800m 1 27 28 4
CEa 1500m 3 47 2 52 4
BF 3000m 3 50 53 3
B¥ 110mH(91. 4cm/9. 14m) 2 2 1
CEa 110mH(99. 1cm/9. 14m) 6 6 1
B¥ 110mH(106. 7cm/9. 14m) 2 1 3 1
B 300mH 10 10 2
BF 3000mW 4 4 1
CEa 5000mW 4 2 3 9 1
B¥ £ =k 12 2 14 1
B¥ ek 1 6 4 11 1
BE i Hu#% (7. 260kg) 2 1 3 1
5F i AL#% (6. 0kg) 7 9 1
BE i 4% (4. 0kg) 1 1 ]
BE A% (2. 0kg) 2 2 1
27 &% (1. 75kg) 3 5 1
BE A&+ (1. 50kg) 3 3 1
FE id
CE Y #%(800g) 1 10 3 17 1
3(‘3 B

CEa /NZE100m 41 41 6
EEa /NF1000m 16 16 1
B &ar 53] 428 21 509
¥ | KRBk | EREK ] 18 3 22 1
¥ | KRB | =Bk 1 5 2 8 1
Fea 100m 3 51 54 7
ZF 300m 12 13 2
Fea 800m 19 19 3
ZF 1500m 17 17 2
Fea 3000m 13 13 1
ZF 100mH(76. 2cm/8. 00m) 7 7 1
Fea 100mH(76. 2cm/8. 50m)
7F 100mH(83 8cm/8 50m) 1 5 6 1
ZF 300mH 3 3 1
Fea 3000mW 5 5 1
ZF 5000mW
¥ £ =k 10 10 2
e ﬁ%mEJE 1 8 10 1
ZF E’aiuzx(él Okg) 1 3 1
zF Fa A% (2. Tkeg)
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5T A&7 (1. Okg) 4 5
3@ ]

7 1) ¥ (6008) 3 8

Fea /NZ100m 31 31

P2 /NF1000m 6 6

2 E=T 218 240




